Lesson 2.2: Sketching Polynomials



Information Needed to Sketch Polynomials
1) End behavior

2) The y-intercept

3) The x-intercept(s) and the behavior of the graph at
each Xx-intercept.



Finding x- and y-intercepts
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Example 1: Sketch y = —2(x + 3)?(x — 1)

1) End Behavior:

Leading Coefficient: In factored form, multiply each
coefficient in front of each x.

L.C:20)¢) {2}

Degree: In factored form, count the number of
X's (or multiply each x to&%ther)
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Example 1: Sketchy = —2(x + 3)?(x — 1)
2) y-intercept: Plug O in for x.
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3) Xx-intercepts:
Note: -Even Multiplicity: the function bounces at the given x-intercept
-Odd Multiplicity: the function crosses at the given x-intercept.
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Example 1: Sketchy = —2(x + 3)%(x — 1)
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Example 2: Sketch y = 4x?%(3 — x)(x + 4)°
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Example 2: Sketch y = 4x%(3 — x)(x + 4)°
4 () =) (°9°) (3,6) (-4, o>
8 c <




Example 3: Sketchy = (x + 1) (x —3)(x% + 3)
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Example 3: Sketch y = (x + 1)%(x — 3)(x* + 3)
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Example 4: Sketch f(x) = 9x — x>
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